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De esle mede el muimens 361 lieme 3 cemlenas, 6 decemas y 1 umnidades.
Olre ejempde ek maivmens 821 lieme 8 C,2 D 41 U.
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8 2 1
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MANTLEAS.

L2 = C

o

Dy____U 16 -____C

—— ] ———

359 = ____C,____ Dy_——_U 561 = ____C, ____ DU

o Emdwmmm,m%m.

8C, LD y3U - _____ 3C,Dy2U-_____

2C, Dy2U - _____ 9C, 0D 45U - _____



ol CMMWW

620 0
3 8 1
2 6 3
193
L35 o
8 2 2
999
- COW&WW&&W:
1C, 3D 4 LU = L3 2C,9aD g3 = ____
100 + 30 + L4 = 143 2RO Fom e
5C, D y0U = ____ 8C,DyiU=-____
o+ +0D=____ I N
NOVORS. - NONN) B O G V. -4 18 N

100 +50+1= ____

500+20+3 = ___._




